

III. Inverse functions -
$$f(g(x)) = x$$
 and $g(f(x))=x$ then the 2 functions are inverses

$$EX 3. f(x) = 5x + 10 \qquad g(x)=(1/5)x - 2$$

$$f(g(x)) = f(\frac{1}{5}x - 2) = 5(\frac{1}{5}x - 2) + 10 = x - 10 + 10 = [x]$$

$$g(f(x)) = f(\frac{1}{5}x - 2) = 5(\frac{1}{5}x - 2) + 10 = x - 10 + 10 = [x]$$

$$g(f(x)) = f(\frac{1}{5}x - 2) = 5(\frac{1}{5}x - 2) + 10 = x - 10 + 10 = [x]$$

$$g(f(x)) = f(\frac{1}{5}x - 2) = 5(\frac{1}{5}x - 2) + 10 = x - 10 + 10 = [x]$$

$$g(f(x)) = f(\frac{1}{5}x - 2) = 5(\frac{1}{5}x - 2) + 10 = x - 10 + 10 = [x]$$

$$g(f(x)) = g(5x + 10) = \frac{1}{5}(5x + 10) - 2 = x + 2 - 2 = [x]$$

$$f(x) + g(x)$$

$$f(g(x)) = f(x - \frac{1}{5}) = 6(x - \frac{1}{5}) + 2 = 6x - 2 + 2$$

$$g(x) = x - (1/3)$$

$$f(g(x)) = f(x - \frac{1}{5}) = 6(x - \frac{1}{5}) + 2 = 6x - 2 + 2$$

$$g(x) = x - (1/3)$$

$$f(g(x)) = f(x - \frac{1}{5}) = 6(x - \frac{1}{5}) + 2 = 6x - 2 + 2$$

$$g(x) = x - (1/3)$$

$$f(g(x)) = f(x - \frac{1}{5}) = 6(x - \frac{1}{5}) + 2 = 6x - 2 + 2$$

$$g(x) = x - (1/3)$$

$$f(g(x)) = f(x - \frac{1}{5}) = 6(x - \frac{1}{5}) + 2 = 6x - 2 + 2$$

$$g(x) = x - (1/3)$$

$$f(g(x)) = x - (1/3)$$

$$f(g(x)) = x - (1/3)$$

$$f(g(x)) = f(x - \frac{1}{5}) = 6(x - \frac{1}{5}) + 2 = 6x - 2 + 2$$

$$g(x) = x - (1/3)$$

$$g(f(x)) = x - (1/3)$$

$$g(f(x)) = x - (1/3)$$

$$f(g(x)) = x - (1/3)$$

$$f(g(x)) = x - (1/3)$$

$$f(g(x)) = x - (1/3)$$

$$g(x) = x -$$

IV. One-to-One Test/Horizontal Line Test: If a function passes the horizontal line test then we say the function is one-to-one which means the function's inverse is a function.

